
ITE Trip Generation Rates1 
 
 
Land Use  Code  Units (X) Equation 
Light Industrial 110  1K GFA Trips = 0.98*(X)    
Industrial Park  130  1K GFA Ln(T) = 0.854*Ln(X) + 0.712 
Manufacturing  140  1K GFA T = 0.776*(X) – 12.885   
Single Family  210  Occ. DU Ln(T) = 0.901*Ln(X) + 0.527 
Apartment  220  Occ. DU T = 0.541*(X) + 18.743   
Res. Condo  230  Occ. DU Ln(T) = 0.827*Ln(X) +0.309 
Mobile Home   240  Occ. DU Ln(T) = 0.897*Ln(X) – 0.044    
Retirement Com. 250  Occ. DU T = 0.269*(X) – 2.514 
Residential PUD 270  Occ. DU Ln(T) = 0.896*Ln(X) + 0.265  
County Park  412  Acres  T = 0.06*(X) 
General Office  710  1K GFA T = 1.121*(X) + 79.295   
Medical Office 720  1K GFA Ln(T) = 0.921*Ln(X) + 1.476 
Office Park  750  1K GFA T = 1.213*(X)+106.215   
Research Center 760  1K GFA Ln(T) = 0.832*Ln(X) + 1.060 
Business Park  770  1K GFA Ln(T) = 0.915*Ln(X) + 0.782  
Shopping Center 820  1K GFA Ln(T) = 0.660*Ln(X) + 3.403 
 
 
 
 
 
1K GFA = 1,000 square feet of gross floor area 
OCC. DU = Occupied dwelling unit 

                                                 
1 Trip Generation, 6th Edition; Institute of Transportation Engineers 


